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MHEHA] ERRK

(14 aiy, ag, ..., akGZCi \T\m:ﬁ)()’@fa?b\&j_z). = ai, G2, ..., akEZ
L, Thobib, ARded 12130 TRVWET S,

113 0 THRVWER a), ..., 0, DERRDNBZ dET5LE = EH 1.4 DK
A ANE

119 ay, ..., a0 THRWVWEEE U, dIXZTDOERRAHE, nIMEEDORK
Brd+s. = THI4DRRIZBENT, niday, ..., a DEEORNEE
3 5.

(19 ,quZZTé = ,quZtL/, al#OﬁTé
113 az’ =0 (modm) = az’ =b (mod m)

19 (2) = (b) WAMDEENSLEDRS. = (a) = (b) HHICDE
5.

11 (1) = .
120 (AKX DH)  G/ker(f) = G/Ker(f)

121 {(xy, 29, ,x,) |m; € Gy, 1 <i<n}.
= {(mlaan"'vmn)‘xiEGi, 1§Z§n}

113 =y 60:, €i‘€i+1 (1 < 1 <7r-— 1) 75)}7&‘@1[_‘[.9 = ::f, ei‘€i+1
1<i<r—1) Th5%.

19 FINJ=F = F(N)=F
118 f,geS[Xy,.... X, = f,9€F[Xy,...,X,)

14 MR ROENESGL TS, = MIZBROZETHRWENESL
I 5.

118 MIFBR RODENELGL TS, = MIFBE ROZETHRWHENESL
T 5.

4 MZEBRROHDEEGEL, = M%ZIER BTV EEE L,
6 MIZROEHELGETS., = MIFRDETHEWHESESLT 5.
116 f~HS) &S DEBE = () IE RDOIIE

12 (AR ADH)  R/ker(f) = R/Ker(f)
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P86 115 gom(x) = f(¥) = gla) = gon(x) = g(&) = f(a)
P98 126 a~pipr-cpr = a=pip2-ccpr

pl02 118 ag, ai, ..., ay DERKDWHITL = ag, ay, ..., a, DI HD 0 TR\
DR FN/N TFTH

pl04 122 h;=cg(X) = h(X) = cgi(X)
pl07 17 (<i<r) = (1<i<r)

plo8 15 g(X)=> bhX' = g(X)=> bhX'

pl16 27 HHZR RIMEEEHEE = HHL REEH
pl17 2 (WA DF)  M/ker(f) = M/Ker(f)
pl17 19 gXERMER = ¢l% RIEEGH

p120 13 RMEEM 2 SEMBE0NDEM, FMEE0LS M ~NDEMKIL = R
HEE M 70 SEIEE 0 ~ND REFEEERYC, FMEE0 25 M ~D RIFEHIE

pl28 1 My% M DR UNEHBILTE. = MORUNTEIEK M, %2 M DR
C &R (torsion part) & K.

pl128 [2 torsion R-module =- torsion R-module

pl35 12 THH = b

pl35 13 THd. 61T, = THD,

pl35 4 (e1) D(e2) D---D(ey) = (e1) D(ez) D--- D (er) # (0)

pl135 15 ele1(1<i<r—1) = el (1<i<r—1),e #0

pl37 17 0<ry <an = 0<r;<an

pl42 12 #fE(i) & = b

pl43 14 THIT = ZZIT

pl43 115 (e;) D(ej1) (1<i<r—1) = R# (e1) D(e2) D--- D (e,) # (0)
pl43 118 (e1) D (e2) D...D(e,) = (e1) D(ea) D-+- D (ey)

pl44d 11 eler, 1 <i<r = eleg (1<i<r—1),e.#0



pldd 7 ZOZr &Y
M = Coker(Ty) = (R/(el)> o) (R/(GQ)) DD (R/(en)> N i

WREINE (149 . 57O Tr=n,s=m—neBIFIELW.
=
ZOZEe Xy, RODZEMNULENS ([]4.9).

M = Coker(Ty) = (R/(el)) ® (R/(@)) DD (R/(en)> @& R™".
A TE TR W e 238, H57-DTey,...,e, 2L, s=m—n&HBL.
pl45 125 R/(a) = R/(p{"---p/") = R/(a) = R/(p" - pi")
pld48 11 (&) D (ein) 1<i<r—1) = R#(e1) D (ea) D+ O (&) # (0)
pld9 15 MIZE->T—EBMIZ = M, p, LIZX>T—EHIZ

p150 16 E‘S%GZ, 61’6i+1 (1 S 1 S 7“—1) ﬁ‘ﬁ@ﬁo = :-:f, ei‘€i+1
1<i<r—1) T»5.

pl154 127 (a,beC) = (a,beR)
plés 2 E LD = EOF ED
pl70 19 7wouc) e B = mouilc) e K

p183 16 JEi 5.4 (2) LEM 544 X0 = EHE5.15, Vi 5.4 (2), EHE 544
£

pl84 11 f(X)e F[X] = f(X)€ F[X]\F

pl85 26 char(F) =0D& &, = char(F)=00D& &, (KOFRKILK
EDFIzxLT

pl89 (12 fEED o c HIFEDHCHMERTH T, ED o € EH 1T
LTCo(z)=2%0i7293 DT, = TEDocc HIFMEEDzc EHIZxLT
o(z) =z &z 9 DT,

pl89 14 UL7=H-T, EM531IZ&LD, MAKVILD., = L7EW-T, &
H53112&D, A O LD ([E: Ey| =oco DEEITHMH) .

plo4d 12 BT5 = EEhd

pl96 2 £koT, o(K)CKTHb. Lh>T, = £o7T, ¢(K)CKT
H5. E558 (5) ZHVNIE, oK)=KbREINEDT GHlIZER) ,
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p199
p200
p200
p200
p205
p207
p210

p218

123 22T, ;€N = ZIZT, ¢ X2 EDHRK
12 2eHLAE = (2e; — 1) fHM E
13 2eHLAE = (2e; — 1) fHM E
19 KOO = E Do

2 2

4 oc0?=0c%=id, 07! =0? = o00? =% =1id, 0%0?

=0,0l=0

17 ze=e¢ = ze==zx
122 degr <degp = deg(r) < deg(p)

17 B, o(0) =07201F = BT, o) =70)%51F



